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1. Which of the following is an enzyme that catalyzes the transfer of phosphate groups
from high-energy, phosphate-donating molecules to specific substrates

(A) ligase (B) kinase (C) phosphatase (D) proteinase

2. Which of the following chemical is the energy currency of the cell?

(A) ATP (B) fat acid (C) lipid (D) sugar

3. Which of the following is the metabolic pathway which stores excess glucose for use by the
body at a later time.

(A) gluconeogenesis (B) glutamine (C) glycogenolysis (D) glycogenesis

4. Which of the following is a biopolymer?

(A) cellulose (B) glucose (C) DNA (D) RNA

5. Which of the following organelle contains DNA?

(A) chloroplast (B) lysosome (C) nucleus (D) mitochondria

6. Which of the following is amino acid?

(A) alanine (B) arginine (C) guanine (D) tryptophan

7. Which enzymes are required for DNA replication in cells?

(A) DNA polymerase (B) helicase (C) restriction enzyme (D) RNA primase

8. Which of the following is the template of transcription ?

(A) carbohydrate (B) DNA (C) mRNA (D) protein

9. Which of the following is required for translation?

(A) ANTP (B) mRNA (C) ribosome (D) tRNA

10.7F %457 & 4 %] gene expression?

(A) compressor (B) inhibitor (C) repressor (D) suppressor

11.7F 7| &t fey % EE#E?

(A) £ R M B ¥ > promoter & — & DNA B # > RNA polymerase $1 2 4 4 L4
promoter &) T #5 B &) 28 4%

(B) &£ At ¥ - RBS £ — & RNA A £ - ribosome #1 & & 4 204 RBS &4 F % % —
18 AUG codon gL &) 3% 3%

(C) reverse transcriptase & — #& Fl # 8 1b#¢ RNA Biig 4 % .7 DNA (cDNA)#Y 85
(D) RNA replicase & — #&4# 1t RNA 4£4x 4 s T4 RNA #4845

12. Which of the following contains intron ?

(A) Bacillus subtilis (B) human (C) rose (D) yeast

13. Which of the following is used to detect protein?

(A) ELISA (B) Northern blotting (C) Southern blotting (D) Western blotting

14.7F 3] % Bl polymerase chain reactions &4 it {7 & iF #&?

(A) % 3 DNA primers

(B) B—EERA @S H T LE—AEEE RS EZDNA &

(C) % % dATP > dCTP - dGTP » dTTP

(D) annealing temperature #&/]\#* primer &) melting temperature

15. F 1% Bl SARS-CoV-2 & ¥l fe7 & £ 72

(A) £:BE4E A ssRNA  (B) £ N protein % capsid

(C) £ Sprotein AR BEFHELE T B LR AW EAY

(D) £ envelope &4 S, E, M proteins £ & lipid bilayers

= ~ Explain the following terminology (15% , each 3%)
(1) allosteric enzyme

(2) competitive inhibitor

(3) melting temperature of DNA

(4) isoelectric pH of protein

(5) protein folding chaperones
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1.

Describe the process of converting pyruvate to lactate. (5%)

2. Describe the pathway of converting pyruvate to ethanol. (10%)
3.
4

Describe the process of converting triacylglycerols to glycerol. (5%)

. Describe the regulation of lac operon in E. coli. (20%)



